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MANAGEMENT (PAPER-I)

ﬁme Allowed : Three Hourﬂ maximum Marks : 250]

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the
authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of
a question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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@Us—A / SECTION—A

"SRR 1SR Eed A e fuifa w0 § reeat i R 217 @

“Span of management plays important role in deciding organization structure.”
Explain.

it s ST & s e SR e fefe @ 8§, 98 wee, v w sl
ﬁl”

with 1 qod Wewl Uee 78 @ 6 9w fofar %1 v 21 3@ qem % oelw § IR Ru M
Foa | roqoft Hifs

“Dependency is increased when the resource you control is important, scarce
and non-substitutable.”

Comment on the above statement in the light of the fact that the most
important aspect of power is that it is a function of dependency.

wod a1 8N % for e fafte wifefel B o AR der  fig g mn mem g
1 IR A W FY g9 Srera 87

Enumerate the different conditions needed for conflict to arise. How does
the channel chosen for communication have an influence on stimulating
conflict?

“uftept it fien e fwm § o= ot 21
A e hit TTUR THAEY a9 3HF AEd) IR RYE W THW e

“Workers’ education is the latent energy in economic development.”

Explain the concept of workers’ education and highlight its aims and
objectives.

Rt T # WgE AR dearst F 9 F0 €7 o9 v % vge g % e A R e ¥

What are the major collective bargaining issues in Indian industries? What
do you foresee as a major issue of the future?

fohe w7 % foq ws o=t A Tk o @e, g A gew RRe YR wEwEE
FA &7 A oRER i e i)

How do mission, vision and values help in developing good plan for an
organization? Explain planning premises.

TF AT G137 F GIeATHS G il TG G4R T | T8 TF GHER @eq Ht G
@ fohw wohr o }7 frm R w1 Sam STl weTers e % R watfs suge 37
IeTEW Higd FHET|

Outline the organizational structure of a virtual organization. How does it

differ from a boundaryless organization? Which type of industries is best
suited to a virtual organizational setup? Explain with examples.
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Differentiate between career, career planning, career development and career
management. Who are the major stakeholders in career development?

“uF e % TR g B Fha & fhg EeTe EER A9 <TH 9ga i @ §
FRGT ¥ Fafoa givon w HFa & k)7
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“A person can have thousands of attitudes but organizational behaviour
focuses its attention on a very limited number of job-related attitudes.”

Explain the different job-related attitudes. How do they differ from other
non-job-related attitudes?

‘g MR % YeEeH &1 319 Wit § FH a1 vtk ® gfg 377 SareATeRs saren Hifi|

“Does delegation of authority mean loss of power or enhancement of power?”
Critically explain.

HI§ G A el ufskn h gwrEficar S Ruifa s 87 sl afen # @ ach S
AE A w= F Ty, @t gr o faeedt v R St 27 wwems)

How does an organization determine the effectiveness of its recruitment
process? To avoid the high cost involved in the recruitment process, what
alternatives are used by organizations? Explain.

HHE HEIEA gE1 YUrell, WHE gH1eA foven vd em gWied e % me vga eia @
Fomifea it @ 7% Iugw sgwEm ) = IRt wa @@m ge et @9 @
uiA TE e fifv|

Highlight the key differences between human resource information system,
human resource analytics and enterprise resource planning, and give
their suitable applications. Illustrate and explain a typical human resource
information system framework.

T T W Ated fFE TR fET, T @ Greers faw f wrie B e
Fa1 87 ¥ g aftia, T fiem @red & o aifsa sagr afteds @@ #7
How does a learning organization model integrate the strategies in the domains

of individual, team and organizational learning? What are the desired
behavioural changes for a learning organization as described by Senge?

“ura = e o safEl grn fer o enfasert w sk |’ s e hifsg)

“Economic development of India will depend on the inventions carried out by
entrepreneurs.” Explain.
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@Uus—B / SECTION—B
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Discuss on the objectives and categories of decisions of the finance finction
in an organization.

‘mm’%ﬁwﬁmmmﬁwm%mﬁmwmm
(3:|'|30 Tho 3HRo mo)%@ﬁﬁﬁ“ﬁéﬂ%ﬁl

Elaborate on the objective of ‘Accounting Standards’ and discuss on its
significance in the emergence of International Financial Reporting Standards
(IFRS) as Global Standards.

%o To ThHo o () Fo GURl A g fRwarelt w Rwvht Hiftm

Comment on the salient features of the EASE Next Reforms.

o g SR R U et Rwvm W wEm T sifig o deh-wmeh o @
afoms #1” 3I9gE Iee [ gY R @ wwemw)

“Marketing is everywhere. Good marketing is not a coincidence but a result
of well thought strategy.” Elaborate giving suitable example.

"ITER-HfRA FuiET et e A Fard & T g wew dew v @ ) arees G
w1 WE Ald g GHAEY| e sft i

“Customer-centric companies are building customer relationships and not
Jjust products or services.” Explain giving importance of customer satisfaction.
Give examples also.

T @ AW A D el F it AR Ry g §

faeror w5 A () %4 B (¥)
S @ 25,000 10,000
IEEIRIELS] 1,25,000 60,000
FA HUf 75,000 30,000
Teederdt (3fdh) 25,000 20,000

(i) i favemm % snur W Rl (3fRR) % e (3Re 3o $0) ) TR i)
v fore S ) yae w017

(i) =are foverr i dard @ §7
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Given below is the data of two firms in the same industry :

Particulars Firm A (¥) Firm B (¥)
Net Profit 25,000 10,000
Sales Revenue 1,25,000 60,000
Total Assets 75,000 30,000
Equity 25,000 20,000

(i) Compute the Return on Equity (RoE) based on DuPont analysis. Which
company would investors prefer?

(i) What are the limitations of DuPont analysis?

(b) Toedt v it G G A R [ T, fF FRE B AR A w@ TavEs 17

What are the factors that need to be kept in mind while designing the capital
structure of a firm?

(c) “‘faum =m@ foiat | qeg Jeas faswfa g 1 39w Sl hl wEEd @ ReRd] % 6E
% g9

“Marketing channel decisions lead to developing value network.” Explain the
importance of intermediaries giving suitable examples.

7. (a) A fafite 6 == ik 0 A vgat i FE (S0 Ao Mo o) ¥ 10,00,000 ) HGH F U
12%, ¥30 wr@ fea= 21 3t $sfimmr = (K, ) 20% )

FrafaRaa 6 o ifse -
(i) 3R 1 TR g 3R wH A T
(i) ISt A FA TG

A Ltd’s EBIT is ¥10,00,000. The company has 12%, ¥ 30 lakhs debentures.
The equity capitalization rate, i.e., K, is 20%.

Compute the following :
(i) Market value of equity and value of firm

(i) Overall cost of capital

(b) THS VAT I FHEIA F FS YRENF Tha 1 87

What are some early signs of cash flow problems?
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“Price is the most important element of marketing mix.” Discuss.

(i) 3 h HHa A qfEd T F GE GHG 98 FA F AR ) wWE e w1 e
| ® 76 g Fma-fufor wAify s % de § @np 27 seem S

Elaborate the process to decide right time to change price of product.
Do you think leadership pricing strategy is applicable in today’s context?
Give examples.

8. (a) TH WM ¥ M, 4500 ¥HEEl A wfEn A # @mn @) ffee ® gmm af @ sgEm
8% 91| HEH % 37d H, 2600 FHEA! =1 ITEA e T 3iR errel Wik & womiafa v R
T, 1400 el syl Rffa off aar 500 sl F T2 W R ) 7@ SgEm @ T
& ol sreat SR & Frafafes v w ge T o
Afi—80% Ui
FH—60% o
IIRET—50% ot

R T 4500 $HEE H @@ € 10,500 oft| WA % W @t yeaw wvwh @
T 2,400. 3R IR € 3,490 §A1| YO #° € 5,460 | @ (7@ H ) Ed
¥ ¥3 wfa 3 v e W wEEEt v ¥ R R € e 3 anh, s qon suRem F

9y § 100% qoi off)

Frafafga st % 3w A

(i) |G IeTeA 1 frerr Gam i)

(i) SFEH B, FR A 3R 3w 9= wie i dva w1 g B
(iii) WTHAT A G T ITHME B 1 @il 4R Fifvm)

During a month, 4500 units were introduced into process A. The normal loss
was estimated at 8% on input. At the end of the month, 2600 units had been
produced and transferred to next process, 1400 units were incomplete and
500 units had been scrapped. It was estimated that uncompleted units had
reached a stage in production as follows :

Material—80% completed

Labour—60% completed

Overheads—50% completéd

The cost of 4500 units introduced was ¥ 10,500. Direct materials introduced
during the process amounted to ¥ 2,400. Production overheads incurred were
¥ 3,490. Direct labour was ¥ 5,460. Units scrapped realized € 3 each. The units
scrapped have passed through the process, so were 100% completed as
regards material, labour and overheads.
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Answer the following questions :

() Prepare a statement of equivalent production. 7
() Evaluate the cost of abnormal loss, finished goods and closing stock. 10
(i) Prepare the process A account and abnormal loss account. 8

(b) Few & (Wwifem) yaem F wgE e =0 7 faw gt (AR ¥ geaiea § wm e
I Ig@ AT h g TR

What are the major objectives of portfolio management? List the major ratios
used to evaluate a portfolio. 10

(c) ““WR-envwr Tl F fave e 9t e 1) wre i) -enverd faaom ¥ fafte smm
F1 87 avia Fifsw)

“Marketing of non-profit organizations is a great challenge.” Elaborate. What
are the various dimensions of non-profit marketing? Explain. 15

* ok Kk
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